JAN

/

N

A N 4

; 4

A N
A /
P

Y/

&

7

1/24



(@5

%8

2/24




ca 35 mm

K4 x 28 x 14
%mo x 40 @10X 13
: 5 < 14
SS /v X X
® @4 X 60 M6 x 120
J13 x2 *
i )
@\/ M6 X 93 w M6/38 x 15
x16 x16

M10x 13

F2

HS

%owo

75x25x 15

@8x40/4x50

10 120 130 140 150 160 170 180

f
M 100
III|||III‘II||’|||I’I||I|I|II‘III| IIII‘IIII|Il||‘I|||’llI|’||||||III‘I||l|IIII‘I||||III|‘I||I|III|‘|||||IIII‘I||||IIII‘Ill||III|‘I||I|IIII’I|Il|III[‘III|IIIII‘Illl|l|l|’|l|l|l|ll‘

3/24




TEILE NR ANZAHL | MASS L XB X T(MM) TEILENR 1ILos$é WYMIAR L X B X T(MM)
1 2 998 X 695 X 78/20 6 2 1942X 130 X 20
2 2 998 X 695 X 78/20 7 2 1542 X 130 X 20
3 4 335X 78X 78 8 y. 1549X 110 X 20
4 2 1942 X 130 X 20 4] 4 320X 90 X 25
5 2 1942X 130 X 20 10 4 898 X 63 X 17

11 28 | sssx 63 x17

424




210X 40

K4

210X 40

K4

2

X

K4

K4

K4 =

5/24




K4

N

210X 40 k4
6) X2
P K4
e 4
X2
K K4

6/24




a16x 19

M3 % x4 @




K9

M3

3 K9
y . x4
K9 }
AQ
s
MS x 8 HS x 8
10x13 %«imxso
3 H5
HS5 M5 M5/
M5 \ H>5

8/24




N

9/24



v</01




H4

13

x 8 F2

H4
G

16 X

8
6z 120 5

1124










14/24




“ R oS ,\;
—
]

HEX 4eam
g X
W
X

1524




HE
<t
X

\\Q\\\\

T

16
C3

1624



as
= E -&

/ /

Qe

\

H4

/

x2
x2
x2
6x120
x2

?10x 13

116

F2

=
.

i

J1®3/Mx

H4%

H7




N\
/

TR

©

»
\

o0

7]




v</61

J16

F2
=

x1

H4

x2

i)

210x 13

H7

x2

M6 x 120

J16 x2
x 120

J:/“




18L
%
iy
)




Q

V
/

\4

x2

g 93,5x 16

2
%{; =
-1

D8x40/D4x5/
v

V1

x2 Vl

75% 25 x 19

21/24



10

X1

x2

5x25x25

93,5X 30

S5 X
%

S5

X1




23/24






